
First Fleet 

Use the information from sources 10 and 11 to complete these cause and effect 

statements. 

Convicts ___________________________________________________ 

because there were no houses. 

The convicts wouldn’t work because 

_________________________________________________________ 

The tools brought from England were not strong enough so 

_________________________________________________________      

Convicts __________________________________________________ 

because they had no other clothes. 

The corn isn’t growing well as ___________________________________ 

_________________________________________________________ 

 

The hogs will die if ___________________________________________ 

                        

_______________________________________ so there will 

be no grain for the pigs, goats or poultry. 

 


